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Exam Date 30/11/2021
Exam Time : 4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General In

telligence and Reasoning

ot g st
DQ_R_D_MR_
Ans X 1.MQTTQR
X2MTQRQT
X3MTQTRQ
4 MTQTQR

D M_T

Q.1 37eRY P IW WA PT T By, o § 7 sjret F R Tl ¥ Baag BU F WA W SEar

Question ID : 65497835473
Status : Answered
Chosen Option : 4

T T HIfeITI

Ans o 1.NRV
< 2.QvB
#< 3.8XD
X 4.YDJ

Q.2 3R 38R Ag fag g &, o § fi7 ot ave F wwm § 31k v 3riva 81 39 3RiT 318R WY

Question ID : 65497835451
Status : Answered
Chosen Option : 1

Ans X 1.ACTDE
X 2. TEDCA
X 3. ADFTE
& 4. ACDTE

Q.3 39 famed &1 T HIfSY, fSHeT der 78 § a8 W6y 2, Sl g IS &1 Ted 1T A 2

BEGIN : EBGNI :: CADET : ?

Question ID : 65497835469
Status : Answered
Chosen Option : 4
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Q.4 e fAfesa Fe uraT F, PLAN @ OBMQ ot Sirr 2, ik NOT ®Y UPO fora sirar 81 3+t g
HTST # MOTHER 1 fo5d W& forat siem?

Ans X 1.SFIUQM
o 2. SFIUPN
7 3. SFIVQN
7 4. SGIURN

Question ID : 65497835470
Status : Answered
Chosen Option : 1

Q.5 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?

82A126B16 D 112C 73
Ans X 1.52

o 2.27
X 3.72
X 4.25

Question ID : 65497835466
Status : Answered
Chosen Option : 2

Q.6 An amount of ¥870 is divided between Urmi and Kripa in the ratio of 18 : 11,
respectively, whereas an amount of ¥960 is divided between Poorvi and Mrinal in the
ratio of 5 : 7, respectively. Who gets the maximum amount of money among all four?

Ans X 1.Kripa

25 2. Urmi
#< 3. Poorvi
«# 4. Mrinal

Question ID : 65497835458
Status : Answered
Chosen Option : 2
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QT =9 fowed @1 v HT w8 915 STy Thewied & (Mgl 1 Ga & gt 8 )1

+

Ans

Question ID : 65497835468

Status : Answered

Chosen Option : 1

Q.8 & =1 ofic Fr HizwT UF U TAAT AT &1 IH TN ¥ N OF H, FH JEW T TAT FL, 7 e D
e aTer Gork & THadid aTel Helsh 9T @R

Ans X1_ E

Question ID : 65497835467

Status : Answered

Chosen Option : 2
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Q.9

Ans

39 e} ey BT T8 B, S 737 7Y 2/e2) & 39 7 B g2ufdr 2, {1 0 A I 37w 2regemier
¥ wlope a1 &1

1. Carpet
2. Caring
3. Carrot
4. Creamy
5. Creek

X 1.2,1,3,54
X 21,2345
& 3.2,1,34,5
X 4.2,31,4,5

Question ID : 65497835472
Status : Answered
Chosen Option : 3

Q.10

Ans

In a cafeteria, seven customers (B, G, H, K, L, M and N) sit on three different benches
(X, Y and Z). Each bench must have at least two customers sitting on it. Customer G
does not sit with customers K, L and M. Customer B sits only with customer N.
Customer K sits on Bench X with his best friends. Customer H sits on Bench Z. On
which bench are there three customers?

«" 1. Only Bench X
/< 2.Bench X or Bench Y
< 3.0nly Bench Z
< 4.0nly Bench Y

Question ID : 65497835462

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q1

Ans

T % I W= F AIF AT AR AT F FEY F GO AW 37 AT A0 HaAs w9 ¥ e
o T #1

@

X 1. gIeT, AT, BHETEEE

X 2. ifSOreaEe, Fehre, W
¢ 3. AT, AfgeT, e

x4 gfya, &g, AT

Question ID : 65497835463
Status : Answered
Chosen Option : 3
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Q12 2w o feedt & ¥ 37 3E & T8 ST, J Rl guer F g feg (7) F W W

E kil
Ans

£
« 1 |O 4
[ ] ]

o
x2la 4
& -

<
<3 |o +
- [ ]

[ 3
<4 lo +
L ] -

Question ID : 65497835475
Status : Answered
Chosen Option : 1

Q.13 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

1. All gardens are resorts.
2. No resort is a court.

3. All parks are courts.

Conclusions:
I. No court is a garden.
Il. No garden is a park.

Ans X 1. None of the conclusions follow
< 2. Only conclusion | follows
< 3. Only conclusion IIfollows

«” 4. Both the conclusionsfoellow

Question ID : 65497835456
Status : Answered
Chosen Option : 4
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Q.14 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

o 1 0

Question ID : 65497835459
Status : Answered
Chosen Option : 1

Q.15 &g 7y fameal ¥ & 39 Y& &1 T HIfSe ot frafefEa siaen ¥ e fag (?) & ufaenfia
P gl B

27,41, 57,76,99, ?
Ans X 1.152
X 2.114

X 3.136
o 4.127

Question ID : 65497835453
Status : Answered
Chosen Option : 4

Q.16 39 fahed T T BT forueT det HEaT & 98 Hay 8, St gt H&aT &1 vgelt 4o 3 § 3k
B3t HHT BT utadl GEar A
6:4::11:?::16:8
Ans 1.6
X 25
X 3.8
X 4.7

Question ID : 65497835465

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Q.17 e fafesa g HIoT &, 'NAUSEA' Y '236943' 31X 'SYRUP' Y '97165' & U ¥ Feag far
T 31 39 W #, 'SUPPRESS' ® fhe % A geag fasar smgmm?

Ans X 1.96552599
/< 2.86552489
/< 3.96441499
" 4. 96551499

Question ID : 65497835452
Status : Answered
Chosen Option : 4

Q.18 Six friends, Govardan, Sarayu, Rekha, Shyamala, Hema and Ganesh, are standing in a
queue at a ticket counter. There are two persons between Sarayu and Hema. Rekha is
between Hema and Shyamala. Only one person is standing ahead of Govardan.
Ganesh who is third from the back end of the row, is between Govardan and Hema.
Which two persons are standing between Sarayu and Hema?

Ans X 1. Shyamala and Rekha
#5 2. Govardan and Rekha
#5 3. Ganesh and Shyamala

«" 4. Govardan and Ganesh

Question ID : 65497835464
Status : Answered
Chosen Option : 3

Q.19 fEg 7y famed ¥ A 39 I BT 97 Fiferg, st fafafea St ¥ gedaras fag (?) & @\ w®
3T Fhdt 2

23, 40, 74,125,193, ?
Ans X 1.270
o 2.278
X 3.290
X 4.225

Question ID : 65497835474
Status : Answered
Chosen Option : 2

Q.20 v fAfeTa g HIwT &, "POUR' &1 'OPRU' 31K "'TACKLE' &1 * ATKCEL ' & %4 ¥ ot simar g1
341 Y11 % 'FORMATIONS' &3 fera sirgmm?

Ans X 1. OFNRTAONSI
& 2. OFMTRAOISO
/< 3. MFPRTAOKSN
" 4. OFMRTAOISN

Question ID : 65497835455
Status : Answered
Chosen Option : 4
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Q.21 39 fabed &1 T BT o & 1 HHarg 3o ¥ 3 ave A Hdfta & fow wr g 1y
W Y HE 3w ¥ eifda #)
(12, 14, 56)
Ans  1.(16, 18, 96)
X 2.(24, 16, 214)
X 3.(10, 16, 82)
X 4.(14, 20, 145)

Question ID : 65497835457
Status : Not Answered
Chosen Option : --

Q.22 3y 7Y fawmedl ¥ A 39 31gR-THg HT T4 HIfSg 5l 1 sjEer § nearas g (?) & =M W)
31T |paT g1

BEI, EHL, HKO, KNR, ?
Ans X 1.NPS
X 2.NRU
« 3.NQU
X 4.NQT

Question ID : 65497835460
Status : Answered
Chosen Option : 3

Q.23 e[, Fu BT uTE 2, S Hister BT g &1 I, 3y H vt §1 wfden, 2fawr B g F 2fe,
3Ty P 1S &, S A FT AT §1 A BT AfFAT A a1 W 87

Ans X1~W
X 2. foar
o 3.MTS
X 4. vdtSTAiST

Question ID : 65497835471
Status : Answered
Chosen Option : 3

Q.24 select the correct mirror image of the given combination when the mirror is placed at the right side.

detA9P

" v qeA1sb
~~qQR@A3}I®Db
~~d@Viab
~~q@A1aP

Question ID : 65497835454
Status : Answered
Chosen Option : 1
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Q.25 'Ammeter’ is related to ‘Current’ in the same way as ‘Anemometer’ is related to

Ans X 1. Temperature
25 2. Potential Difference
25 3. Water
# 4. Wind Speed and Direction

Question ID : 65497835461
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Q1 YRa ¥ qF (Teon) afaffamad & uifva far mar am
Ans X 1.1976

< 2.1988

& 3.1980

X 4.1974

Question ID : 65497835496
Status : Answered
Chosen Option : 1

Q.2 gy Wit SHa safa far dreFr fea af 3w 6t 1€ 2ft?
Ans X 1.2018

X 2.2014

& 3.2015

X 4.2017

Question ID : 65497835483
Status : Answered
Chosen Option : 1

Q.3 fimfafaa ¥ & fu da @ 7 484 siavisia Vil qREBR 2020 ¥ 949 grT e &1
QPR Siar?
Ans X1 37H
X 2. 98 gT g
o 3. ot e

X 4. e

Question ID : 65497835479
Status : Answered
Chosen Option : 4

Q.4 fmfafEd # § B9 |1 BRI AgaT 3ifediler (medulla oblongata) gRT fAfa A8l grar 87
Ans X 1 BiET

X 2.3 BT

o 3. ATEH gorrT

X 4. @

Question ID : 65497835498
Status : Answered
Chosen Option : 1
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Q.5 fiafafaa # % fow siter o1 fAmfor sriaqaa g & R 36T iTa gRT 3T 212
Ans X 1. JrTs i, e

X 2. fawmr ghta, 3nfsem

X 3. @rpee gite, AfvgR

o 4. AR S0, HERT

Question ID : 65497835478
Status : Answered
Chosen Option : 1

Q.6 ffafaa # & few 320 A 5T 2021 A 3mAfSia G7 wisd wfie H spagmar H?
Ans X 1. HIRAT TURTST

o 2. gTsce fbmren

25 3. ¥MRd

X 4. sAEferan

Question ID : 65497835497
Status : Answered
Chosen Option : 2

Q.7 Hiverfas gwwnsi R M-S araf % ged & 911 1 i o ¥ Wingiae e B Siid
F & g FdaX 1944 ¥ R-Ziia TR B vt wfafa gr fsw afifa o1 fga far mar
ar?

Ans ' 1. STTfeby g8 At
o 2. Ty IHfd
< 3. IR ued Afnfd
< 4. goTdd 17 gar winfa

Question ID : 65497835482
Status : Answered
Chosen Option : 3

Q.8 17 fdeR, 2020 B, iR 79 Hgry (ITF) 3 8 M9on A, {6 FeRiT a1 "%’ HY 6 3@
W Afge ¥ fEeet & amE 3 % BY W SIET A |

Ans X 1. HIfET FaRIfqATaT B
o 2. T5cl S fomr oy
X 3. P vad &y
X 4. RHI T Y

Question ID : 65497835480

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.9 wmE A JEWIg g8 31-HIfad HHRT P 376! Yo feiamae & fag o184 e (Zarin
Qalam) a1 Tvf Few b U A gwnfaa faan|

Ans X 1. omgsTal
7 2. SEnR
< 3. 3

o 4. FFR

Question ID : 65497835499
Status : Answered
Chosen Option : 2
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Q.10 771 ¥ | P TGaR 2020 T AUTA i febbe EF BT FaM 2172
Ans 2 1. FC Hewll

7 2. Afgd ded

X 3. 9T arfHe™

X 4. oz fEEod

Question ID : 65497835493
Status : Answered
Chosen Option : 3

Q.11 37ergaR 2020 ¥, 3raet wfEer A H Feam F Y WRAT 303 gRT Y HY 7 Tged HT A F49T
om?

Ans X 1 T ar
o 2. 08 TRl
X 3. T WErE
X4 A e

Question ID : 65497835487
Status : Answered
Chosen Option : 4

Q.12 &g YRd $ Afaema o1 waiter dar fan i 81 o, Wi T B 39 3120fd B waE W 3@aT o
forad W TR ¥eT 11 39 ufged # fimfaifaa ¥ & BT a1 qe1 wRifiies 78 212

Ans o 1. T B ATHIoTR-3Tees AT agd srgE ot
X 2. Rarad 3707 wfasy & 9 A srfafead off|
75 3. 220 P AAT-3TT HYQKT | &7 &1l
< 4. RA 3R Tfd & Mo &t gfe gg ot

Question ID : 65497835486
Status : Answered
Chosen Option : 1

Q.13 HgarS __ IoTdRl F a8d Y-XIod BT Uh B 2T
Ans g 1 T

X 2.3

X 3. 91gH

X479

Question ID : 65497835494
Status : Answered
Chosen Option : 1

Q.14 3r5vmerd F oot fFmfar HY 2020 % wR uep qaifem (sTerie)) & g ufaftsa arer wmsa
Ik YEPIR AW §31T 2T
Ans X 1.7 B gary
o 2. 218 AT
X 3. STHRY & fAdr
< 4. Teht

Question ID : 65497835491
Status : Answered
Chosen Option : 3
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Q.15 fafefaa § & S 4, o i f3var 78 82
Ans X 1. 319 &I Te ffedrd AT gie 21
& 2. 31 P AT O TS fSar S Fasar 21
75 3. 96 o 31T 8 IR 3 & FhdT &
7X 4. 3 & MHR Pl I Gfehd 8, TA@T I POR 81 §

Question ID : 65497835489
Status : Answered
Chosen Option : 2

Q.16 7 fJdar 2021 B, AT (NASA) 3 TVOT Pl 3 gRifada AR 3 H7red g B

¥ g &1 Frd quf e o 1
Ans X ga
X 2.9a
o 3.9
X 496

& Ugel A

Question ID : 65497835500
Status : Answered
Chosen Option : 3

Q.17 7w fég Feisr & AFAR Al H1 R foby & wara §2
Ans X 1. gfofHT & U A 91

< 2. 3T & i

X 3. gforaT I ves i uee

o 4. 90 F T

Question ID : 65497835488
Status : Answered
Chosen Option : 2

Q.18 27 qda¥ 2020 T, WRd BT fas2f a1 R @ fafera am

Ans X 1.$774
o 2. $574
75 3.%474
X 4.$374

Question ID : 65497835481
Status : Answered
Chosen Option : 2

Q.19 fmfefEa ¥ § BT gear af 1856 § g§ 012

Ans X' 1. dTcT Y I Tebg foidT T, W @b BIfRI0 BT 3R AR STell 7|
o 2. 3T IR fefeer $x EfEar dout 7 deatt % foram am
X 3. HIE Ui Bl i & T
7< 4. TEIGT 2ITE SO T T Bl STt W f& |

Question ID : 65497835495
Status : Answered
Chosen Option : 4
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Q.20 fim ¥ | P-9T 1865 ¥ TN WA T W YRMAT WY T 35 82
Ans X 1. T IF 3T AqUIBR

X 2.mdE

X 3. e de

o 4. SATEER 4 (379 $fea dF)

Question ID : 65497835485
Status : Answered
Chosen Option : 4

Q.21 f=fafEa ¥ J B 91 UF THEHIIbN sig §2
Ans X 1. et At

72X 2. ARgAferay & Bifererg

75 3. ®ab

o 4. Sfiarg

Question ID : 65497835490
Status : Answered
Chosen Option : 1

Q.22 orwita mfdeT, fifte 34t fégwart e Hita & foou Wy ¥ urTa 21?
Ans o 1. @AT

X 2.y9

o 3. TR

X 4. =g

Question ID : 65497835477
Status : Not Answered
Chosen Option : --

Q.23 2011 & FAIVAT F IR R & FAffEd § F fFa To0  SweEn &1 9a 3ifde o9 2417
Ans X 1. fafden

o 2. faER

X 3. T R

X 4. IR I

Question ID : 65497835492
Status : Answered
Chosen Option : 2

Q.24 200 v feawiia AR (ODI) #a WA aTel! Ugelt WRdta Afger fdex fAmfafaa & & i
2?
Ans X 1. 3rgoT T
o 2. THaTett 3T
X 3. ared
X 4. 3feq emf

Question ID : 65497835484
Status : Answered
Chosen Option : 2
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Q.25 faafeafad ¥ ¥ PiA-3t 76} fFead, WRa 3R aivarer A g agdt 82
Ans 7 1 FEIgd

X 2.3y

7< 3. a1

K 4.7

Question ID : 65497835476
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 Varun bought a curtain cloth from a wholesaler at 20% discount on the marked price. He then marked the cloth at 20%
higher than the original marked price and allowed 10% discount. What is his percentage profit?

Ans X 1. 25
X2 20
%3 30
¥4 35

Question ID : 65497835501
Status : Answered
Chosen Option : 4

Q2 g5+ 170f4-[65 + 130f 2~ 14 X (19- 25) + 12- 10]of > T HIeT T Hif=r|

Ans
x1. 1
12

x2

x 3.

Question ID : 65497835521
Status : Answered
Chosen Option : 4

Q.3  One-fifth of three-eighths of two-thirds of a number is 20. What is 60% of that number?
Ans X 1. 120

X2 156

<3 365

¥ 4. 240

Question ID : 65497835514
Status : Answered
Chosen Option : 4
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Q4 e T & wEfEat At ot fr T W wmeE 2 7 ¥ ofr st st as & de & waen
15% 3T 20% #r 3fx g1 Sk g, & 77 g Factarn grem?

Ans  »1.23 : 84
X219 : 14
X324 71
K421 22

Question ID : 65497835519
Status : Answered
Chosen Option : 1

Q.5 Atrader allows a discount of 10% on the marked price and still gains 8% on the whole. At what percentage above the

cost price does he mark his goods?

Ans

x 1.
x2
x 3.

35%
25%
18%

o 4 20%

Question ID : 65497835504
Status : Answered
Chosen Option : 4

Q.6 Rohit can complete a piece of work in 32 days, while Raj can complete it by himself in 48 days. They started the work
together, but Rohit left 8 days before the work got over. For how many days did they work together?

X118
X212
X3 15
« 4 16

Ans

Question ID : 65497835515
Status : Answered
Chosen Option : 2

Q.7  The average monthly income of A and B is 4,500, the average monthly income of B and C is 5,600, and the average
monthly income of A and C is ¥4,800. Find the monthly income of B.

X 1. 36,900
X2 T4,750
X 3. 33,700
& 4 75,300

Ans

Question ID : 65497835512
Status : Answered
Chosen Option : 4
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Q.8 Apersonsaves 12% of his income. One year later, his income shoots up by 25% but he still saves the same amount of
money. What is the percentage hike in his expenditure?

Ans 1. 27.4%
¥ 2. 28.4%
X3 25.4%
x4 33%

Question ID : 65497835503
Status : Answered
Chosen Option : 2

Q.9 Two friends, A and B, invested in a business in the ratio of 3 : 4. A withdrew his share two months early. At the end of
one year, the total profit was ¥2,600. A's share of profit will be:

Ans X1 ﬁﬂﬂ'
« 2. 1,000
X3 T300
X4 T1,110

Question ID : 65497835508
Status : Not Answered
Chosen Option : --
Q.10

Find the single discount equivalent to two successive discounts of 25% and 10%.
Ans X 1. 28%

X 2..40.25%

« 3 32.5%

X 4. 45.5%

Question ID : 65497835513
Status : Answered
Chosen Option : 3

Q.11 The ratio of the radii of two right circular cones, C and D, is 2 : 3 and their heights are in the ratio 3 : 2. The ratio of the
volume of cone D to that of cone C is:

Ans X1, 4:3
K2 2:3
K3 3:4
w4 3:2

Question ID : 65497835510
Status : Answered
Chosen Option : 4
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Q12 2 paled Haatad
5 2.4 4 2 43T AT AT ST
5=+ 3-of =
2 3 8
Ans
x1.3
4
x2 1
2
7
w3 .—
8
x4 2
3

Question ID : 65497835524
Status : Answered
Chosen Option : 3

Q13 vx ofER # 5 @fed o & wlE W 10% T = § I F g 10% F g g = A IR
T A &= & TorT el By g & gfoee w6 Fan g e

Ans o, 11%
v29 =%
11

23 10%
X4 9%

Question ID : 65497835511
Status : Not Answered
Chosen Option : --

Q.14 Asum of money at compound interest amounts to seven times of itself in 3 years. In how many years will it be 2401

times of itself?

Ans 1. 0
2 12
X3 18
X4 15

Question ID : 65497835506
Status : Answered
Chosen Option : 2

Q.15 How many maximum litres of milk can a hemispherical bowl of diameter 9 cm hold approximately?
Ans 1. 0.191 litres

< 2.0.90 litres

#'3.0.0191 litres

< 4.1.90 litres

Question ID : 65497835507
Status : Answered
Chosen Option : 3
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Q.16 FfdFT & 2% T+ w0 H¥ X ¥ THIE =0 W 3 T9 F B0 Wafy FA == & 29,000 Fr Tlr
F1 e rar) gl sErfEr & ogeaar o 3@ o ofdr (Gemes F & TuEt g% TE) fEeEt?

Ans 1. ¥9,650
X2 ¥10,255.25
X3 %9,52550
v 4 T9,550.87

Question ID : 65497835520
Status : Answered
Chosen Option : 4

Q.17 By selling 90 pens for T1,575, a shopkeeper loses 30%. How many pens should he sell for T708 so as to earn a profit of
18%?

Ans 1. 3()
<2 20
o3 24
X4 25

Question ID : 65497835522
Status : Not Answered
Chosen Option : --

Q.18 Find the least number which is a perfect square and is divisible by each of the following numbers.

15, 24 and 36

Ans 1. 3600
X 2. 1600
X 3. 900
X 4. 6400

Question ID : 65497835517
Status : Answered
Chosen Option : 1

Q.19 Pipes A and B can fill a tank in 18 hours and 27 hours, respectively. If both the pipes are opened on alternate hours, one
at a time, and pipe A is opened for the first hour, then in how many hours will the tank be filled completely?

Ans X' 1. 21

X2 ]}
2

X3 20

o4 21

ra |

Question ID : 65497835523
Status : Answered
Chosen Option : 4
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Q.20 For a certain sum, in 2 years, the simple interest is T80 and the compound interest for the same period and at the same

rate of interest is T85. The rate of interest per annum is:

Ans X 1. 7.5%
X2 8.5%
3. 12.5%
X4 5.5%

Question ID : 65497835509
Status : Answered
Chosen Option : 3

Q.21 g =afFast &1 sitaa a7 1.5 kg 52 AT § =19 378 & 45 kg I a9 S5fad ¥ T T TH A0
=T Jar & AT O F g aer g aee?

Ans w1 54 kg
X2 b5 kg
x 3. 50 kg
x4 48 kg

Question ID : 65497835518
Status : Answered
Chosen Option : 1

0% ofr 0.35: x::5: 6 &, @ x & AW oA E?
Ans X 1048

v 2 042

X3 0.34

X4 0.44

Question ID : 65497835505
Status : Answered
Chosen Option : 2

Q.23 wew HeTERX & 60 km/h @ =T T wereT g R st sEEHr 9T 973w 3 ©E 9X 20 km/h wEE ST
g1 470 km &7 g 77 Fer # 36 Frow v e

Ans

1
A I e
4

2
* o g
3

X3 7

«451
i

Question ID : 65497835516
Status : Answered
Chosen Option : 4
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Q.24 3f¥ 9987693 x 6432 x 7695 I 10 ¥ ST AT F1GT &, A AVES Faar a=m?
Ans a4 5

2 0

x3 1

x4 9

Question ID : 65497835502
Status : Answered
Chosen Option : 2

Q.25 ws weeh v fafes g & @R o #1 70 kmh 7 wrE & HR 99 g 1 50 ki Fr e &

a:rmh@mnﬁaﬁssdimmmm 56 km/h &I =w &, IF I g0 oA wEw F
T FT Y

Ans x 1. 7 Eié.-
x 2 8% ue

o 3. 7% 1514

Question ID : 65497835525
Status : Not Answered
Chosen Option : --

Section : Part D English

Q.1 Select the most appropriate meaning of the given idiom.

To get out of hand
Ans  # 1. To get out of control
#< 2. To get an award
75 3. To get angry
25 4. To getin a trouble

Question ID : 65497835530
Status : Answered
Chosen Option : 1

Q.2 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The visitors / were being showed / a collection of / old manuscripts.
Ans X 1.a collection of
#< 2. old manuscripts
#< 3. The visitors

«" 4. were being showed

Question ID : 65497835539
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mohit is expecting / a huge profit / at his / recent investment.
Ans o 1.athis

75 2. ahuge profit

75 3. Mohit is expecting

75 4. recent investment

Question ID : 65497835543
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.

When his mother was away, he took the ____ of his little brother.
Ans X 1. management

25 2. power

" 3. charge

75 4. duty

Question ID : 65497835526
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.
Mere classroom teaching-learning is boringand __ for students.
Ans X 1.varied
% 2. monotonous
75 3. exciting
75 4. interesting

Question ID : 65497835533
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate synonym of the given word.
Maintain
Ans 1. Care
25 2. Ignore
X 3. Release
75 4. Neglect

Question ID : 65497835528
Status : Answered
Chosen Option : 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.7 Select the most appropriate ANTONYM of the given word.

Beneficial
Ans X 1. Careful
75 2. Fearful
25 3. Hopeful
” 4. Harmful

Question ID : 65497835534
Status : Answered
Chosen Option : 4

Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

The sound of owls
Ans 4 1. Hoot

75 2. Caw
#< 3. Cluck
25 4. Moo

Question ID : 65497835545
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

He an important question in the meeting.
Ans X 1.rose

25 2.risen

< 3.rise
o 4. raised

Question ID : 65497835536
Status : Answered
Chosen Option : 1

Q.10 Select the INCORRECTLY spelt word.
Ans X 1. Brilliant

#< 2. lllusion
25 3. Scrutiny
" 4. Abandan

Question ID : 65497835542
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Able to be harmed easily
Ans 4 1. Vulnerable

25 2. Available
25 3. Accessible
25 4. Flexible

Question ID : 65497835541
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any

error, mark ‘No error’ as your answer.

May |/ please borrow / yours book?
Ans X 1.No error

«# 2. yours book

25 3. May |

#< 4. please borrow

Question ID : 65497835527
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The task our English teacher gave us was both challenging and entertaining.
Ans 4 1. No substitution required
75 2. was together challenged
#< 3. was both challenge

#< 4. is additionally challenging

Question ID : 65497835537
Status : Answered
Chosen Option : 1

Q.14 Select the INCORRECTLY spelt word.
Ans 4 1. Pretanse

75 2. Reliance

75 3. Alliance

#< 4. Defiance

Question ID : 65497835535
Status : Answered

Chosen Option : 1
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Q.15 Select the most appropriate SYNONYM of the given word.

Compose
Ans X 1.Clutch

< 2. Confuse
¥ 3. Collect
4. Cuddle

Question ID : 65497835544
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate meaning of the given idiom.

To take stock of
Ans X 1.To measure
«” 2. To think carefully
#< 3. To count
75 4. To discuss

Question ID : 65497835529
Status : Answered
Chosen Option : 2

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

A large number of things placed one on top of another
Ans X 1.Batch

75 2. Group

o 3. Pile
#< 4. Load

Question ID : 65497835531
Status : Answered
Chosen Option : 4

Q.18 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The children were been drove to the picnic spot in the school bus.
Ans X 1. were been driving

«# 2. were being driven
75 3. were been driven

75 4. No improvement required

Question ID : 65497835538
Status : Answered
Chosen Option : 2
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Q.19 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Aphrodite vowed that Paris would had the most beautiful woman as his wife.
Ans X 1. will be having

«" 2. would have
25 3. No improvement required

75 4. would be having

Question ID : 65497835532
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate ANTONYM of the given word.

Stout
Ans X 1.Obese

25 2. Heavy
& 3. Thin

5 4. Bulky

Question ID : 65497835540
Status : Marked For Review
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past

his coffin.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.impressive

75 2. exciting
«" 3. emotional

75 4. expressive

Question ID : 65497835547
Status : Answered
Chosen Option : 3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past

his coffin.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans  # 1.around

5 2. more or less
< 3. roughly
X 4. just

Question ID : 65497835548
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1. attending

¥ 2. attended
< 3. have attended
< 4. attend

Question ID : 65497835549
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past

his coffin.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.early

75 2. earliest
«” 3. earlier

< 4. as early

Question ID : 65497835550
Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Football legend Diego Maradona was buried in a private ceremony after a day of (1)

scenes in the Argentine capital Buenos Aires. Only (2) two dozen relatives and close
friends (3) the final ceremony on Thursday. But (4) huge crowds turned out to
pay (5) respects, with many weeping, blowing kisses and praying as they filed past
his coffin.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.
Ans o 1. their

X 2. his

25 3.them

X 4.its

Question ID : 65497835551
Status : Answered
Chosen Option : 1

Section : Part D Hindi

Q.1 3y 7y 2reg b AT 2reg T TTT BRI

At

Ans | @O
X 2. Berdt
25 3. T
X 4w

Question ID : 65497835558
Status : Not Answered
Chosen Option : --

Q.2 fRMR - ¥G@ifrd 2eg BT 2AeE THE qaATST|
Ans X 1 ST AWTE

o 2. ST BIE AR 7T

7< 3. fSgapT 3R &Y

< 4. <0 ver-fa@r .8

Question ID : 65497835565
Status : Not Answered
Chosen Option : --

Q.3 iy 77y are # 3Gifchd @ B wfawATid He F 7 Ta¥ 3ugad fadmeq &1 997 &1 afe sd
AR A Bl 3raadwdr T8 &, aY fabeq Bt aeeta Y smaegdar T8 ¥ &1 T B
¥ 1 Y HERa B @I EI

Ans g 1 T d Rarst

X 2. ot ggaTa B 3raegdsdT T8 B
X 3.7 fos gaer
X 4. o ugw

Question ID : 65497835552
Status : Not Answered
Chosen Option : --
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Q4 yfafer H Jar HA e awrier B fFT v org Bhm-
Ans 5 1. anifden

o 2. s

X 3. 3w

X 4 s

Question ID : 65497835569
Status : Not Answered

Chosen Option : --
Q5 2w area ¥ Yaifea sier @Y wfdvenfia w3 ¥ fog wat suge fawer o1 o w1
T Y T A EfEw)
Ans X 1.y@AT
o 2. B
X 3. 3rer
X 4. e
Question 1D : 65497835567
Status : Not Answered
Chosen Option : --
— —
Q6 Ao BT YEra B WE 3ref WA R?
Ans X 1 &=gf @At
X 2. QrRIYT HAT
X 3. gon &t
& 4 f@=em
Question ID : 65497835571
Status : Not Answered
Chosen Option : --
Q7 AR T F Bawm AR §?
3T A A T WBR B Terdl 7a BT
Ans X 1. & et
X 2.9d &I
X 3.9 UBR
43I
Question ID : 65497835566
Status : Not Answered
Chosen Option : --
Q8 fmfafaa ¥ ¥ g adt aren erg BT AT 32
Ans X | dadls
X 2. wiwdie
3. e
X 4. daiRe
Question ID : 65497835564
Status : Not Answered
Chosen Option : --
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Q9 frwfafea ¥ ¥ g adh aren e BT W E?
Ans X 1 FyspR

2. TIBR

X 3. mFR

X 4. 7ArBR

Question ID : 65497835563
Status : Not Answered
Chosen Option : --

Q10 R Torr BY WA ¥ Forg wad IwgerT QR BT T BRI
sTgEEaga I 3
Ans X 1.qm
X 2.em=
& 3. A
X 4. w7

Question ID : 65497835559
Status - Not Answered
Chosen Option : --

Q1 fgft a2 3ik werrquf SRf @1 wRoT g a1 AT W areier ¥ fog e wrele o A
Ans X 1. gmH

X 2.3

3.

X 4.9

Question ID : 65497835553
Status : Not Answered
Chosen Option : --

Q12 fsffa’ @1 faeiw oreg gvm-
Ans 1 weig

X 2.3t

X 3. weeitg

X 4 @

Question ID : 65497835568
Status : Not Answered
Chosen Option : --

Q.13 35 araw &} fEad wrr w0 gERR ¥ 3fEa el &1 Hf)
Ans X 1. 81 39 ¥ At Ft e

X 2. ycafds s3mia BT

o 3. 9gHd I AT AT

X 4. 9gAd STHHA BAT

Question ID : 65497835554
Status : Not Answered
Chosen Option : --
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Q.14 R T WA & FoTg Tk 3Uga 2Rz BT aT B
SRR
Ans X 1 37
X 2. vt
X 3.ag
o 4.9g%

Question ID : 65497835555
Status : Not Answered
Chosen Option : --

Q15 R e arer @1 a5 Wi Fra B o v gR 31 ARk P R A 2, A B R A ¥
¥ (1) ot wfEal (2) war e §1 (3) B IR T Y (4)
Ans X 1.4
& 2.2
x 3.3
X 4.1

Question ID : 65497835560
Status : Not Answered
Chosen Option : --

Q.16 ‘srar’ 1 famrw 2Rz ghm-
Ans X 1 3@ies

& 2.3%9

X 3.3

X 4.3

Question ID : 65497835570
Status : Not Answered
Chosen Option : --

Q17 Ry 7y arer ¥ Y@ifea ws B wfazenfia F & fow 9o Iwge fiee 1 9T w1 ARk @
wfereenfia & Y s eawar 7€) §, @ e st agema $ sraeawar T8 § &1 o B
ot gfEal & S feues 3 fawht o B 7P &Y wedtan & wnft)

Ans 1. T3 &S ST BY TG B,

X 2. faeft aeera Bt 3aegesd T&l 81
X 3.3 & S | Wl oA @il
X 4.0 & o B ydten s @l

Question ID : 65497835562
Status : Not Answered
Chosen Option : --
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Q.18 {3y My 2rg & WATRIT 2reg @1 T B |
AFY
Ans 1 g
X 2. @R
X 3.9drg
X 4. R

Question ID : 65497835561
Status : Not Answered

Chosen Option : --

Q.19 ey wore ®Y WA & AT Wy IUgaT 2Rg BT T B
puRAn Ay #
Ans X 1. 3TTaRry

 2.fIReg
X 3. fRfe=

X 4. EA TS

Question ID : 65497835556
Status : Not Answered
Chosen Option : --

Q.20 fy Ty averr w1 aE WP A B for B R 1 ARk B AR A L, A B R WY I

fadt ot wrem Y (1)) e W 3ifi (2)/ wee B i § (3) B FRAAE (4)
Ans 1.4
X23
X 3.2
X 4.1

Question ID : 65497835557
Status : Not Answered

Chosen Option : --
Comprehension:
BT 1T BT &IV T&T, 3T HTEl Fd ¢l 3e & ST A s ar F g (1) T gt 3H
3 afead a% ggan Wt gAR o0 gRaR BaT 21 21T 77 &Y (2) TEdt 8, 2T HATE iR

T (3) T Tge P 318 21 AT B Wal fig & Twa 39aT (4) @t B Pifrer
BT fagar Bt Ta IEi gga 1 fareary Y 3iedr ¥ [ S Y 3rdar 21wt 5 (5) R IeAd

& U Y E €t ugaH Bl
T woAY & 3R IWar el & MR W AfSg)
SubQuestion No : 21
Q-21 wrerier ¥ feerr 2 (1) & forg waffires 3w erg grm-
Ans X 1 fdar
X 2. gt
o 3. AdT
X 4. woeT

Question ID : 65497835573
Status : Not Answered
Chosen Option : --
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Comprehension:

QBT 19T BT TEIUT TET, 31T BT & Wd &1 3T A AT i 5 ar & g (1), &Y Bt 3R
3rfeiad e qgerT i AR g gear gidT 21 i 7S @ (2) TEdlt 2, 2T BT F iR &
TIeTax (3) e Uga B g &1 2APT B Wel foig A S@ap 39aT (4) @I P BIfRS
BT fagar Bt T g€t ggaE 2| feam HY suar ¥ A IR B avarHI B (5)_ WAAd
& U 1 BEl a81 TEaH gl

71 weAY & IR IR el B AR | Qg

SubQuestion No : 22
Q.22 warier 3 fie 2 (2) ¥ forg waffire swge ez grm-
Ans X 1.S5@R
X 2. v
3.5

X 4. g

Question ID : 65497835574

Status : Not Answered

Chosen Option : --

Comprehension:

AT AT BT ALIOT eI, MR BT Aid &1 39 § fST A s ar & & (1), & B, 3
3 afegd o ggarT Wt gAR AT gRaR gaT #1 21T 77 &Y (2) TE R, 2T BfEATE B Wiaw &
TR (3)___ % g B U 71 AHT P TEl foig & S@H 39T (4) @I B BIfRS
BAT fagaT B Tad 9t uga™ 21 fFear Y 3fuar F Y S Y 3rdaT 2T & (5) W geTd

T U &Y B 981 UEEH B

1 weat & 3R Iwaw Taier & AR W Sl
SubQuestion No : 23
Q.23 rurier 3 fea v (3) 3 forg wafires swgae erg 8-
Ans X 1 fiofg
X 2.3 A
3.9
X 4.wea

Question ID : 65497835575

Status : Not Answered

Chosen Option : --

Comprehension:

BT RTLT BT T&IOT TET, ITATHT €l B &1 39eT o o7 i b ar ¥ & (1), T greft, 3H
rferad ae Tgar W gR fog goar BT §1 2T A Bt (2). TEd 2, 2T BfEATE F iR ¥
TR (3)___ % g B U 71 AHT P WEl foig & S@H 39T (4) @I B BIfARr
BT fagar Bt Ta 9 uga™ §1 fdeara HY sivar #§ [ I b 3rda ot F (5) R Tdd

T U &Y B 981 UgEH B

T WY b 3aR IURaRT Tl b ATUR W &gl

SubQuestion No : 24
Q.24 rerier & fear warr (4) ¥ forg waffie suge oz -
Ans X 1 3@ceH
2. TANH
X 3.9M1a
X 4 ufromy

Question ID : 65497835576

Status : Not Answered

Chosen Option : --
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Comprehension:

feRT AT T TTEIOT LT, 37T BT & FNd €1 3Tt H 5 ofl b IR ¥ g (1) TEl Brdt, 37T
3ferad de UgerT H AR fAiT Goa BiT €1 2T 7w @' (2) & 2, 21T HiEATE B IR &
T (3) T Uga Pl I8 B AT BT HEl foig I P 35D (4) I BT PIfrer
BT fagar &7 Te 9t UgaH 21 fI2ary &Y sivar & A7 ST Y 3198 2T & (5) TR geld
&A1 uH B el 991 ygdH Bl

7 TroY & 3R ITRIeRT TEITel & MUR W STl

SubQuestion No : 25

Q.25 rerier & Rer w2 (5) & foiy Watfeie Iuge 2 2im-

Ans

X1 gd
X 2.ya
X 3.2RR
o 4.3

Question ID : 65497835577
Status : Not Answered
Chosen Option : --
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